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Error’s in JEE-Main (Jan.2020) 
 

Physics 
 

7th Jan. (1st Shift) 

Q.  

 

7th Jan. (2nd Shift) 

Q.  

Q.  
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Q.  

 

8th Jan. (1st Shift) 

Q.  

Q.  
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Q.  

Q.  

 

8th Jan. (1st Shift) 

Q.  

 

9th Jan. (1st Shift) 

Q. Radiation, with wavelength 6561 Å falls on a metal surface to produce photoelectrons. The electrons are 

made to enter a uniform magnetic field of 3 × 10–4T. If the radius of the largest circular path followed by the 

electrons is 10 mm, the work function of the metal is cod is:  

 A. 1.1 eV B. 1.8 eV C. 1.6 eV D. 0.8 eV 

 

Ans. D 

 

9th Jan. (2nd Shift) 
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Q. Two gases-argon (atomic radius 0.07 nm, atomic weight 40) and xenon (atomic radius 0.1 nm, atomic weight 

140) have the same number density and  are at the same temperature. The ratio of their respective mean 

free times is closest to:  

 A. 2.3  B. 3.67 

 C. 4.67 D. 1.83 

 

Q. For the four sets of three measured physical quantities as given below. Which of the following options is 

correct?  

 (i) A1 = 24.36, B1 = 0.0724, C1 = 256.2 

 (ii) A2 = 24.44, B2 = 16.082, C2 = 240.2 

 (iii) A3 = 25.2, B3 = 19.2812, C3 = 236.183 

 (iv) A4 = 25, B4 = 236.191, C4 = 19.5 

 A. 4 4 4 1 1 1

2 2 2 3 3 3

A B C A B C

A B C A B C

+ +  + + =

+ + = + +
  

 B. 1 1 1 3 3 3

2 2 2 4 4 4

A B C A B C

A B C A B C

+ +  + + 

+ +  + +
  

 C. 1 1 1 2 2 2

3 3 3 4 4 4

A B C A B C

A B C A B C

+ + = + + =

+ + = + +
  

 D. 4 4 4 1 1 1

3 3 3 2 2 2

A B C A B C

A B C A B C

+ +  + + 

+ +  + +
  

 

Q. The circuit shown below is working as a 8 V dc regulated voltage source. When 12 V is used as input, the 

power dissipated (in mW) in each diode is; (considering both zener diodes are identical) _______. 

  
 

Q. Starting at temperature 300 K, one mole of an ideal diatomic gas (γ = 1.4) is first compressed adiabatically 

from volume V1 to V2 1V
.

16
=  It is then allowed to expand isobarically to volume 2V2. If all the process are the 

quasi-static then the final temperature of the gas (in °K) is (to the nearest integer) ______.  
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Q. An electric field ( )2ˆ ˆE 4xi y 1 j N/C= − +
r

 passes through the box shown in figure. The flux of the electric field 

through surfaces ABCD and BCGF are marked as I IIand   respectively. The difference between ( )I II −   is 

(in Nm2/C)_____. 

  

*** 

 

 

Chemistry 

 

Q. In the figure shown below reactant A (represented by square) is in equilibrium with product B (represented 
by circle). The equilibrium constant is  

  
 A. 4 B. 1 
 C. 2 D. 8 
Ans. A 

 

Q. The sum of the total number of bonds between chromium and oxygen atoms in chromate and dichromate 
ions is________ 

Ans. 12 

*** 

 

Maths 

7 Jan.2020 (First -Shift) 

Q. A vector ( )a i 2j k , R=  + +  
r

$ $ $  lies in the plane of the vectors b i j= +
r

$ $  and ˆc i j 4k= − +
r

$ $ . If a
r

 bisects the 

angle between b
r

 and c
r

, then  

 A. a.i 1 0+ =
r

$  B. a.i 3 0+ =
r

$  
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 C. ˆa.k 4 0+ =
r

 D. ˆa.k 2 0+ =
r

 

Ans. D 
Sol: 

( )
ˆˆ ˆ ˆ ˆi j i j 4kˆ ˆa b c

2 3 2

 + − +
=  + =  + 

 

r
 

( ) ( )ˆ ˆˆ ˆ ˆ ˆa 4i 2j 4k 4i 2j 4k
3 2 3 2

 
= + +  + +

r
 

ˆˆ ˆi 2j k= + +  

4 and 4 =  =  

So, ˆˆ ˆa 4i 2j 4k= + +
r

 

None of the given option is correct 
 
Q. If f(a + b + 1 – x) = f(x), for all x, where a and b are fixed positive real numbers, then 

( ) ( )( )
b

a

1
x f x f x 1 dx

a b
+ +

+   is equal to  

 A. ( )
b 1

a 1
f x dx

+

+  B. ( )
b 1

a 1
f x 1 dx

+

+
+  

 C. ( )
b 1

a 1
f x 1 dx

−

−
+  D. ( )

b 1

a 1
f x dx

−

−  

Ans. A 
Sol: 

( )
( ) ( )( )

b

a

1
I x f x f x 1 dx

a b
= + +

+  ………..(1) 

= 
( )

( ) ( ) ( )( )
b

a

1
a b x f a b x f a b 1 x dx

a b
+ − + − + + + −

+   

( )
( ) ( ) ( )( )

b

a

1
I a b x f x 1 f x dx

a b
= + − + +

+   …..(2) 

Equation (1) + (2) 

( )
( ) ( ) ( )( )

b

a

1
2I a b f x 1 f x dx

a b
= + + +

+   

( ) ( )
b b

a a

1
I f x 1 dx f x dx

2
 = + +
     

= ( ) ( )
b b

a a

1
f a b 1 x dx f x dx

2
 + + − +
     

= ( ) ( )
b b

a a

1
f x dx f x dx

2
 +
     

I = ( )
b

a
f x dx  

Let x  = T + 1 

( )
b 1

a 1
f T 1 dT

−

−
= +  
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( )
b 1

a 1
I f x 1 dx

−

−
= +  

Hence, option (C) is correct. 

In option (A)  ( )
b 1

a 1
f x dx

+

+  

Put x = t + 1 

+ = 
b b

a a

f(t 1)dt f(t) dt  

Hence, (A) option also correct. 

 

8 Jan. 2020 (Second-Shift) 
Q. Let S be the set of all functions  f : 0,1 R→ , which are continuous on [0,1] and differentiable on (0, 1). Then 

for every f in S, there exists a ( )c 0,1 , depending on f, such that  

 A. ( ) ( ) ( ) ( )|f c f 1 | 1 c |f ' c |−  −  

 B. ( ) ( ) ( )|f c f 1 | |f ' c |−   

 C. ( ) ( ) ( ) ( )|f c f 1 | 1 c |f ' c |+  +  

 D. 
( ) ( )

( )
f 1 f c

f ' c
1 c

−
=

−
 

Ans. B 
Sol. 
Option (A), (B), (C) are incorrect for f(x) = constant. 
 

9 Jan. 2020 (Second-Shift) 

Q. If x = 2sin - sin 2 and y = 2cos - cos2,  0,2  , then 
2

2

d y

dx
 at  =  is  

 A. 
3

2
 B. 

3

4
−  

 C. 
3

4
 D. 

3

8
−  

Ans. D 
Sol: 

x = 2sin - sin2 

dx 3
2cos 2cos2 4sin sin

d 2 2

    
 = −  =    

    
 

y 2cos cos2= −   

dy
2sin 2sin2 4sin cos

d 2 2

 
 = − +  =


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2
2

2

3 3
cosec

dy 3 d y 2 2
cot

3dx 2 dx
4sin sin

2 2

 
−      =  =     

 
 

 

2

2

d y 3

dx 8
=

 
 = 

 
  

Answer should be 
3

8
. No option is correct  

 
Q. If 10 different balls are to be placed in 4 distinct boxes at random, then the probability that two of 

these boxes contain exactly 2 and 3 balls is : 

 A. 
11

945

2
 B. 

11

965

2
 

 C. 
10

945

2
 D. 

10

965

2
 

Ans. C 
Sol: 
10 different balls in 4 different boxes. 

 
 

15

16065

2
 

 

Maths (8 Jan 1st Shift 2020) 

Q. Let f(x) = (sin(tan–1x) + sin(cot–1x))2 – 1, |x| > 1. If ( )( )( )−= 1dy 1 d
sin f x

dx 2 dx
 and ( ) 

=y 3 ,
6

 then 

( )y – 3  is equal to: 

 A. 
5

6
  B. 


–

6
 

 C. 


3
  D. 

2

3
 

Ans. A 
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Q. Ley y = y(x) be a solution of the differential equaion, − + − = 2 2dy
1 x 1 y 0,|x| 1.

dx
 If 

 
= 

 

1 3
y ,

2 2
 

then 
 
 
 

–1
y

2
 is equal to 

 A. 
3

–
2

  B. 
1

2
 

 C. 
3

2
  D. 

1
–

2
 

Ans. B 
Sol: 

−
= −

−

+ =
− −

2

2

2 2

dy 1 y

dx 1 x
dy dx

so, 0
1 y 1 x

 

Integrating, sin–1x + sin_1y = c 

( )

− −

−

 
+ =


+ =


= − =

1 1

1

so, c
6 3

Hence, sin x sin y
2

1 3
Put x , sin y Not possible

42

 

 
Q. An urn contains 5 red marbles, 4 black marbles and 3 white marbles. Then the number of ways in which 4 

marbles can be drawn so that at the most three of them are red is .... 
Ans. 490 
Sol: 
The question does not mention that whether same coloured marbles are distinct or identi-cal. So, assuming they 
are distinct our required answer  = 490 
And, if same coloured marbles are identical then required answer = (2 + 3 + 4 + 4) = 13 

 

 

*** 
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